Bid Request Number Title Description	# 18-19-087 Addendum 1 CHAIN LINK FENCING MATERIALS, EQUIPMENT AND SUPPLIES	Organization Bid Creator Email Phone	PSJA ISD Ebids Emily Garza emily.garza@psjaisd.us
Bid Type	Bid	Fax	
Issue Date	8/22/2019 04:16:11 PM (CT)		
Close Date	9/16/2019 02:30:00 PM (CT)		

Recommendation: That the Board of Education award the Chain Link Fending Materials, Equipment and Supplies Bid # 18-19-087 to the lowest bidder listed below:

Awarded Suppliers								
Name	City	State	Classifications	Lines Awarded	Award Total	Award Reason		
Central Fence & Supply	Pharr	ТΧ		11	\$12,162.50			
Construction Rent-A-Fence	Taylor	ТΧ		7	\$19,457.00			
Hurricane Fence Co	Harlingen	ТΧ		17	\$63,497.00			
MATTS BUILDING MATERIALS	PHARR	ТΧ		1	\$399.95			

Emily Garza, Director of Purchasing

Jim Brewster, Property Control Coordinator

Charge Budgeted Account Numbers: 131100

Eighty two (82) invitations were emailed to vendors Five (5) Vendors viewed Bid Specifications Four (4) Submitted Bid Two (2) No Bid

Line	Qty UOM	Description	Award Response	Award Quantity	Awarded Supplier	Award Reason
1	400 EA	Top rail 1 5/8" SS20 21ft. Long (8,400 linear ft.).	\$24.70	400	Construction Rent-A-Fence	Low Bid
2	600 EA	Line post 8 ft. high 2" diameter SS20 6 ft. fence	\$11.35	600	Hurricane Fence Co	Low Bid
3	200 EA	Line post 6 ft. high 2" diameter SS20 4 ft. fence.	\$6.86	200	Construction Rent-A-Fence	Low Bid
4	200 EA	Terminal Post 10 ft. 2 3/8" SS20	\$17.62	200	Construction Rent-A-Fence	Low Bid
5	200 EA	Terminal Post 8 ft. 2 3/8" SS20	\$14.10	200	Construction Rent-A-Fence	Low Bid
6	30 EA	50 ft. rolls fabric 4 ft. high 9 guage G.A.W.	\$111.50	30	Hurricane Fence Co	Low Bid
7	300 EA	50 ft. rolls fabric 6 ft. high 9 guage G.A.W.	\$167.50	300	Hurricane Fence Co	Low Bid
8	150 EA	Tension bars 4 ft. high	\$1.21	150	Hurricane Fence Co	Low Bid
9	500 EA	Tension bars 6 ft. high	\$2.20	500	Central Fence & Supply	Low Bid
10	500 EA	Tension bands 2 3/8"	\$0.38	500	Construction Rent-A-Fence	Low Bid
11	500 EA	Tension bands 1 5/8"	\$0.35	500	Hurricane Fence Co	Low Bid
12	600 EA	Steel loop cap 2" x 1 5/8"	\$0.88	600	Central Fence & Supply	Low Bid
13	300 EA	Corn cap 2 3/8"	\$0.70	300	Hurricane Fence Co	Low Bid
14	200 EA	Corn cap 1 5/8"	\$0.41	200	Hurricane Fence Co	Low Bid
15	500 EA	Rail end caps 2 3/8"	\$0.77	500	Central Fence & Supply	Low Bid
16	300 EA	Single wheel 1 5/8"	\$11.00	300	Central Fence & Supply	Low Bid
17	5 EA	Barb wire 12 guage 4 points (1,200 ft/roll)	\$79.99	5	MATTS BUILDING MATERIALS	Low Bid
18	200 EA	Barb wire arm 2" diameter	\$2.64	200	Central Fence & Supply	Low Bid
19	100 EA	Tie wire 9" (150 per package)	\$6.60	100	Central Fence & Supply	Low Bid
20	200 EA	Brace Bands 1 5/8	\$0.38	200	Hurricane Fence Co	Low Bid
21	300 EA	Galvanized Box hinges 2 3/8" x 1 5/8"	\$6.71	300	Central Fence & Supply	Low Bid
22	75 EA	Galvanized Rear track roller with pipe bracket and bolt	\$9.29	75	Hurricane Fence Co	Low Bid
23	200 EA	Base Plates 6"x6" Galvanized	\$3.58	200	Central Fence & Supply	Low Bid
24	200 EA	Loop caps Steel 2 3/8 x 1 5/8	\$1.05	200	Central Fence & Supply	Low Bid
25	50 EA	Top rail 1 3/8" x 21'	\$12.32	50	Construction Rent-A-Fence	Low Bid Justified
26	50 EA	Drop rod fork 1 3/8" x 1 5/8"	\$2.03	50	Hurricane Fence Co	Low Bid
27	75 EA	Drop rod guide 1 3/8" x 1 5/8"	\$2.03	75	Hurricane Fence Co	Low Bid
28	100 EA	Carridge bolt and nut 5/16"x 1 1/4" Gal. sets of 100/box	\$7.50	100	Hurricane Fence Co	Low Bid
29	100 EA	Terminal post 6' x 2 3/8" SS20	\$10.55	100	Construction Rent-A-Fence	Low Bid
30	100 EA	Fork 3" x 1 5/8"	\$0.98	100	Hurricane Fence Co	Low Bid
31	100 EA	Collar 3" x 1 5/8"	\$0.94	100	Hurricane Fence Co	Low Bid
32	500 EA	Brace bands 2 3/8	\$0.38		Hurricane Fence Co	Low Bid
33	300 EA	Rail end cap 1 5/8"	\$0.66	300	Hurricane Fence Co	Low Bid
34	100 EA	Sleeve 1 5/8"	\$0.87	100	Hurricane Fence Co	Low Bid
35	20 EA	Tension wire 12 gauge"	\$99.00	20	Central Fence & Supply	Low Bid
36	50 EA	7" Press steel wheel	\$14.85	50	Central Fence & Supply	Low Bid

Line Item # 25 Justification: Central Fence and Supply is bidding an alternate top rail gauged at .47 which is for residential use and not commercial grade which is .65 gauge.

				Hurricane Fence Co (Hurfco Ind.)		ce & Supply		ruction A-Fence	<u>MATTS BUILDING</u> <u>MATERIALS</u>		
				Total Price	\$98,228.60	Total Price	\$100,594.75	Total Price	\$114,259.50	Total Price	\$114,339.45
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	Top rail 1 5/8" SS20 21ft. Long (8,400 linear ft.).	400	EA	\$24.78	\$9,912.00	\$25.09	\$10,036.00	<u>\$24.70</u>	\$9,880.00	\$29.99	\$11,996.00
2	Line post 8 ft. high 2" diameter SS20 6 ft. fence	600	EA	<u>\$11.35</u>	\$6,810.00	\$13.44	\$8,064.00	\$11.43	\$6,858.00	\$12.99	\$7,794.00
3	Line post 6 ft. high 2" diameter SS20 4 ft. fence.	200	EA	\$8.92	\$1,784.00	\$10.49	\$2,098.00	<u>\$6.86</u>	\$1,372.00	\$9.99	\$1,998.00
4	Terminal Post 10 ft. 2 3/8" SS20	200	EA	\$19.69	\$3,938.00	\$18.70	\$3,740.00	<u>\$17.62</u>	\$3,524.00	\$19.99	\$3 <i>,</i> 998.00
5	Terminal Post 8 ft. 2 3/8" SS20	200	EA	\$17.19	\$3,438.00	\$14.94	\$2,988.00	<u>\$14.10</u>	\$2,820.00	\$17.99	\$3,598.00
6	50 ft. rolls fabric 4 ft. high 9 guage G.A.W.	30	EA	<u>\$111.50</u>	\$3,345.00	\$118.50	\$3,555.00	\$120.00	\$3,600.00	\$124.99	\$3,749.70
7	50 ft. rolls fabric 6 ft. high 9 guage G.A.W.	300	EA	<u>\$167.50</u>	\$50,250.00	\$170.50	\$51,150.00	\$180.00	\$54,000.00	\$184.99	\$55 <i>,</i> 497.00
8	Tension bars 4 ft. high	150	EA	<u>\$1.21</u>	\$181.50	\$1.54	\$231.00	\$2.45	\$367.50	\$2.49	\$373.50
9	Tension bars 6 ft. high	500	EA	\$2.34	\$1,170.00	<u>\$2.20</u>	\$1,100.00	\$2.55	\$1,275.00	\$3.75	\$1,875.00
10	Tension bands 2 3/8"	500	EA	\$0.40	\$200.00	\$0.42	\$210.00	<u>\$0.38</u>	\$190.00	\$0.65	\$325.00
11	Tension bands 1 5/8"	500	EA	<u>\$0.35</u>	\$175.00	\$0.39	\$195.00	\$0.36	\$180.00	\$0.65	\$325.00
12	Steel loop cap 2" x 1 5/8"	600	EA	\$0.94	\$564.00	<u>\$0.88</u>	\$528.00	\$1.75	\$1,050.00	\$1.69	\$1,014.00
13	Corn cap 2 3/8"	300	EA	<u>\$0.70</u>	\$210.00	\$0.77	\$231.00	\$2.50	\$750.00	\$0.99	\$297.00
14	Corn cap 1 5/8"	200	EA	<u>\$0.41</u>	\$82.00	\$0.43	\$86.00	\$1.50	\$300.00	\$0.99	\$198.00
15	Rail end caps 2 3/8"	500	EA	No Bid		<u>\$0.77</u>	\$385.00	\$2.50	\$1,250.00	\$0.99	\$495.00
16	Single wheel 1 5/8"	300	EA	\$11.03	\$3,309.00	<u>\$11.00</u>	\$3,300.00	\$37.72	\$11,316.00	\$15.99	\$4,797.00
17	Barb wire 12 guage 4 points (1,200 ft/roll)	5	EA	\$80.52	\$402.60	\$88.00	\$440.00	\$80.00	\$400.00	<u>\$79.99</u>	\$399.95
18	Barb wire arm 2" diameter	200	EA	\$3.08	\$616.00	<u>\$2.64</u>	\$528.00	\$3.55	\$710.00	\$2.99	\$598.00
19	Tie wire 9" (150 per package)	100	EA	\$8.90	\$890.00	<u>\$6.60</u>	\$660.00	\$8.75	\$875.00	\$10.99	\$1,099.00
20	Brace Bands 1 5/8	200	EA	<u>\$0.38</u>	\$76.00	\$0.61	\$122.00	\$0.45	\$90.00	\$0.79	\$158.00
21	Galvanized Box hinges 2 3/8" x 1 5/8"	300	EA	\$7.47	\$2,241.00	<u>\$6.71</u>	\$2,013.00	\$8.95	\$2,685.00	\$8.99	\$2,697.00
22	Galvanized Rear track roller with pipe bracket and bolt	75	EA	<u>\$9.29</u>	\$696.75	\$12.10	\$907.50	\$19.00	\$1,425.00	\$14.99	\$1,124.25
23	Base Plates 6"x6" Galvanized	200	EA	\$3.86	\$772.00	<u>\$3.58</u>	\$716.00	\$6.85	\$1,370.00	\$5.99	\$1,198.00
24	Loop caps Steel 2 3/8 x 1 5/8	200	EA	\$1.10	\$220.00	<u>\$1.05</u>	\$210.00	\$2.00	\$400.00	\$2.25	\$450.00
25	Top rail 1 3/8" x 21'	50	EA	\$15.23	\$761.50	\$16.50	\$825.00	<u>\$12.32</u>	\$616.00	\$25.99	\$1,299.50
25 ALT1	Top rail 1 3/8" x 21' .047	50	EA			\$11.95					
26	Drop rod fork 1 3/8" x 1 5/8"	50	EA	<u>\$2.03</u>	\$101.50	\$3.14	\$157.00	\$3.60	\$180.00	\$5.99	\$299.50
27	Drop rod guide 1 3/8" x 1 5/8"	75	EA	<u>\$2.03</u>	\$152.25	\$2.97	\$222.75	\$3.20	\$240.00	\$3.99	\$299.25
28	Carridge bolt and nut 5/16"x 1 1/4" Gal. sets of 100/box	100	EA	<u>\$7.50</u>	\$750.00	\$12.10	\$1,210.00	\$12.00	\$1,200.00	\$11.99	\$1,199.00
29	Terminal post 6' x 2 3/8" SS20	100	EA	\$11.48	\$1,148.00	\$11.22	\$1,122.00	<u>\$10.55</u>	\$1,055.00	\$12.99	\$1,299.00
30	Fork 3" x 1 5/8"	100	EA	<u>\$0.98</u>	\$98.00	\$1.76	\$176.00	\$2.25	\$225.00	\$1.99	\$199.00
31	Collar 3" x 1 5/8"	100	EA	\$0.94	\$94.00	\$1.43	\$143.00	\$2.10	\$210.00	\$1.49	\$149.00
32	Brace bands 2 3/8	500	EA	\$0.38	\$190.00	\$0.42	\$210.00	\$0.50	\$250.00	\$0.65	\$325.00
33	Rail end cap 1 5/8"	300	EA	<u>\$0.66</u>	\$198.00	\$0.75	\$225.00	\$1.62	\$486.00	\$0.99	\$297.00
34	Sleeve 1 5/8"	100	EA	\$0.87	\$87.00	\$0.88	\$88.00	\$1.85	\$185.00	\$1.19	\$119.00
35	Tension wire 12 gauge"	20	EA	\$125.40	\$2,508.00	\$99.00	\$1,980.00	\$100.00	\$2,000.00	\$139.99	\$2,799.80
36	7" Press steel wheel	50	EA	\$17.15	\$857.50	\$14.85	\$742.50	\$18.50	\$925.00	No	Bid

Responding Supplier	Signature Full Name	Signature Email	Supplier Notes
Hurricane Fence Co (Hurfco Ind.)	Roy Garrison III	roy3@hurricanefencetx.com	
Central Fence & Supply	Celia Sandoval-Gregory	celia@centralfenceltd.com	
Construction Rent-A-Fence	Melissa Huisman	melissa@crafinc.com	Note that all items are not in stock. Delivery dates may vary. Supplier also reserves right to reject awards/orders less than \$500 due to the cost of transporting/handling goods.
MATTS BUILDING MATERIALS	DANNY SMITH	MATTSCORP@AOL.COM	BID PRICES MAY CHANGE AFTER 90 DAYS OF BID BEEN SUBMITTED

Participation Summary - As of 10/01/2019

Participant Name	Response Date		Contact	<u>City</u>		Invitation Type	Invitation Date	Owner
Central Fence & Supply	09/16/2019	Submitted	Celia Gregory	Pharr	ТХ	Manual	08/23/2019	Amador Sandoval
Hurricane Fence Co (Hurfco Ind.)	09/16/2019	Submitted	Roy Garrison III	Harlingen	ТХ	Automatic	08/22/2019	Roy Garrison III
MATTS BUILDING MATERIALS	09/14/2019	Submitted	DAVID CASTILLO	PHARR	ТХ	Automatic	08/22/2019	Danny Smith
Construction Rent-A-Fence	09/13/2019	Submitted	Melissa Ford Huisman	Taylor	TX	Manual	08/23/2019	Melissa Huisman
dba Stenhouse Publishers and dba Staff Devel		No Bid	Jennifer J. Selby	Portsmouth	NH	A	00/22/2010	
Trinity3 Technology	08/22/2019	No Bid	Kendell Rickman	Saint Paul	MN	Automatic	08/22/2019	
ABSOLUTE Services (LMH & LMH, LLC)			Larry Helgeson	McAllen	TX	Automatic	08/22/2019	
Adept Facilities & Design, Inc.			Calasta Cantu	Harlingen	TX	Automatic	08/22/2019	
Aircool Tech-ACT, Corp Alamo Iron Works (Vallen Distribution)			Celeste Cantu	Alamo Pharr	TX TX	Automatic	08/22/2019	
All American Poly			Velma Quintanilla		NJ	Automatic	08/22/2019 08/22/2019	
ALPHA CUSTOM SHIRTS				Piscataway	TX	Automatic Automatic	08/22/2019	
Blue Sky Enterprises			Alonzo Acosta	edinburg La Blanca	TX	Automatic	08/22/2019	
BM Benchmark Construction, LLC			Alonzo Acosta	McAllen	TX	Automatic	08/22/2019	
BOB RODRIGUEZ CONSTRUCTION, LLC			TONY RODRIGUEZ	San Juan	ТХ	Automatic	08/22/2019	
Bon Tool Co			Paul Bender	Gibsonia	PA	Automatic	08/22/2019	
Bros Pressure Washing and Striping			John Ramirez	Edinburg	TX	Automatic	08/22/2019	
Buffalo Construction LLC.			FRED GUERRA	WESLACO	TX	Automatic	08/22/2019	
Burton Companies (Burton Companies, LLC)			Scott Vaughan	Weslaco	TX	Automatic	08/22/2019	
C&H Distributors, LLC			William Rose	Chicago	IL	Automatic	08/22/2019	
CAPA Texas			junior ocampo	Mission	TX	Automatic	08/22/2019	
Caprice Electronics, Inc.			Michael Kluger	Brooklyn	NY	Automatic	08/22/2019	
Castcon Construction Co., LLC			Robert Castaneda, Jr.	Mission	TX	Automatic	08/22/2019	
Celso Gonzalez Construction			Celso Gonzalez	Mission	ТХ	Automatic	08/22/2019	
Center Stone Services				Weslaco	тх	Automatic	08/22/2019	
Central Plumbing & Electric Supply (CENCO, IN	10			Weslaco	тх	Automatic	08/22/2019	
Cintas Corporation #538			Roger Rodriguez	Mercedes	тх	Automatic	08/22/2019	
Commercial Kitchen Parts & Service (Greenwi	r		D'Ann Ivers	San Antonio	тх	Automatic	08/22/2019	
ConstructConnect	C .	Viewed	D / III Wels	Cincinnati	ОН	Automatic	08/22/2019	
Construction Bid Source (Plan Room)		viewed		Felton	CA	Automatic	08/22/2019	
Construction Journal LLC			Pamela Exton	Stuart	FL	Automatic	08/22/2019	
Deltek		Viewed	Source Management	Herndon	VA	, latornatio	00, 22, 2025	
Devin Distributing & Packaging Inc.		neneu	Sandra Salinas	Palmhurst	тх	Automatic	08/22/2019	
Doggett Heavy Machinery Services			Andy Ramos	San Juan	тх	Automatic	08/22/2019	
ECOEFFECT			Alejandro Alanis	McAllen	тх	Automatic	08/22/2019	
Econ Group, LLC			Gilbert Enriquez	Edinburg	тх	Automatic	08/22/2019	
Elsa Auto & Truck Parts			Lupe Garza	Elsa	тх	Automatic	08/22/2019	
Fairway Supply, Inc.			Kathy Millican	Austin	ТΧ	Automatic	08/22/2019	
Full Stop Equipment LLC		Viewed	Elias Macias	La Joya	тх	, laconacio	00,22,2010	
gargon power services IIc (Juan Garcia)		Viewed	Juan Garcia	san juan	тх	Automatic	08/22/2019	
General contractor/Construction (Davila Cons	t		Tommy Canul	Pharr	ТΧ	Automatic	08/22/2019	
Go UnderGround			,	harlingen	ТΧ	Automatic	08/22/2019	
Gulf Coast Paper			Jessica Cavazos	Brownsville	ΤХ	Automatic	08/22/2019	
Hi-LoContractor LLC			Edmundo Carreon	Elsa	ΤХ	Automatic	08/22/2019	
Holchemont, Ltd.			Annette Carmona	McAllen	ΤХ	Automatic	08/22/2019	
Home Design Center (V&L ENTERPRISES, LLC)			Victor Cantu	McAllen	ТΧ	Automatic	08/22/2019	
Hunt & Woodruff Construction Co LLC			Keith F. Hunt	Laguna Vista	ТΧ	Automatic	08/22/2019	
JCO "the door people"			Joe Perez	EDINBURG	ТΧ	Automatic	08/22/2019	
JOHNSON CONTROLS FIRE PROTECTION			Heather Foster	ROUND ROCK	ТΧ	Automatic	08/22/2019	
kautsch lumber co inc			kookii crerar	alamo	ТΧ	Automatic	08/22/2019	
Lewis Electric Motors, Inc.			Enrique Mendez	HARLINGEN	ТΧ	Automatic	08/22/2019	
Little Giants Learning Center				Alamo	ТΧ	Automatic	08/22/2019	
Lumatec Lighting Service			Victor T Rios	McAllen	ТΧ	Automatic	08/22/2019	
LUNA GLASS LLC			JOSE LUNA	MCALLEN	ТΧ	Automatic	08/22/2019	
MARK HOSKINS ENTERPRISES LLC			Mark Hoskins	MCALLEN	ТΧ	Automatic	08/22/2019	
Matco Tools (Matco Tools Corporation)			Mike Zappia	Stow	OH	Automatic	08/22/2019	
McCoys Building Supply (McCoy Corporation)			Tina McArthur	San Marcos	ТΧ	Automatic	08/22/2019	
MEGA RACKS LLC (GERARDO DAVALOS)			GERARDO DAVALOS	McAllen	ТΧ	Automatic	08/22/2019	
MH ENTERPRISES (MH ENTERPRISES 888)			Miyoung Hong	McKinney	ТΧ	Automatic	08/22/2019	
Noble Texas Builders				La Feria	ТΧ	Automatic	08/22/2019	
OMA INDUSTRIES, LLC			Lucia Valdez	HARLINGEN	ТΧ	Automatic	08/22/2019	
Pinturas & Lacas (PPG Paints)			Rudy Garza	Weslaco	ТΧ	Automatic	08/22/2019	
PRECISION SAW & TOOL, INC			EDDIE HOMAN	CONVERSE	ТΧ	Automatic	08/22/2019	
RCA Building Materials Inc.			Gustavo Rea	Pharr	ТΧ	Automatic	08/22/2019	
REFCO (R E Friedrichs Company)			Vicki Delgado	McAllen	ТΧ	Automatic	08/22/2019	
Rio Grande Valley Chapter Associated Genera	I	Viewed	Perry A. Vaughn	Harlingen	ТΧ	Automatic	08/22/2019	
RISICA & SONS, INC.			RON RISICA	EDINBURG	ТΧ	Automatic	08/22/2019	
Romo Contractors, LLC			Romo Contractors LLC	Laredo	ТΧ	Automatic	08/22/2019	
rudys upholstery				pharr	ТΧ	Automatic	08/22/2019	
			Juan Sanchez	Pharr	ТΧ	Automatic	08/22/2019	
Sanchez Building Supplies, Inc.								
Sanchez Building Supplies, Inc. SERVICE SHADE SHOP (YBARRA GROUP, INC)				SAN ANTONIO	ТΧ	Automatic	08/22/2019	
			karissa Carrizales	SAN ANTONIO Mcallen	TX TX	Automatic Automatic	08/22/2019 08/22/2019	
SERVICE SHADE SHOP (YBARRA GROUP, INC)	iz							

Participation Summary - As of 10/01/2019

Participant Name	Response Date	Response Status	<u>Contact</u>	City	State	Invitation Type	Invitation Date	Owner
TDIndustries, Inc.			Lorraine Vuong	Houston	ТΧ	Automatic	08/22/2019	
Twin City Hardware, Inc. (TCH Southwest, Tri-	C		Joe Gandara	Oakdale	MN	Automatic	08/22/2019	
Valley Striping Corp				Mission	ТΧ	Automatic	08/22/2019	
ValTex (Figuroa & Sons, Inc.)			Felipe Lopez	McAllen	ТΧ	Automatic	08/22/2019	
VCI Builders, Inc.			Joe Arredondo	MISSION	ТΧ	Automatic	08/22/2019	
Vertex Marketing			Dr. Sue Bayer	Stafford	ТΧ	Automatic	08/22/2019	
Virtual Builders Exchange			Jeannette Olguin	SAN ANTONIO	ТΧ	Automatic	08/22/2019	
Visceral Illumination Code LLC (VISCERAL ILLU	Ν		VISCERAL ILLUMINATION CODE LLC	Edinburg	ТΧ	Automatic	08/22/2019	
Western BRW -Bosworth Papers (JP Gould)			Cindy Leander	Dallas	ТΧ	Automatic	08/22/2019	
WINDSHIELDS XPRESS (JUAN CARLOS ISASI)			JUAN CARLOS ISASI	PHARR	ТΧ	Automatic	08/22/2019	
Yanitor Paper and Supplies, LLC			Carlos Franco	Pharr	ТΧ	Automatic	08/22/2019	
External Invitations								

Invite Email	Auto Approve	Invitation Date	<u>Status</u>	Status Date
melissa@allstarfencesupply.com	Yes	09/10/2019	Invitation Sent	09/10/2019

Page 6 TAKEN TO BOARD OF EDUCATION / OCTOBER 28, 2019